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M = 0 & AF Y &H A M
0MEE 204 DEAIASESH &
SA: DEAFD
MM ZDE S4 N
CHel: EDS MHIA HH(REASSEEH) (e e
_ _ _ Muo
SH-EFHHA(FA) - NIRAE - BES 01l A+oH '@,‘;OH Hws2
S 4,986,567 4,981,812 4,755
2 199,000
Al 4,787,567
HERE sS4 X 4,620,902 4,720,217 99,315
= 199,000
Al 4,421,902
HERE MHIA HE(DEALSESIH) 3,642,260 3,307,826 334,434
2 199,000
Al 3,443,260
SEAY MHIA JHE X 30,400 19,360 11,040
201 L2y 1,000 2,960 A 1,960
01 AtR el 1,000 2,960 ~1,960
O1 Yt 1,000
> HEDE R2X 22M KM=
50,0002 *20H 1,000
202 01| 8,400 8,400 0
01 2U0it| 8,400 8,400 0
OAMBRZOIE I L HHIAMLAE E2 Of
HI 700,000 * 122 8,400
301 LB A 21,000 8,000 13,000
10 S#ALAIH 242 21,000 8,000 13,000
OHZERE STX 2 LXK Ast 6.000
PUHEDE ST EESAL LEX As
600,000 *1001%13] 6,000
OHZEDE S4BAX DUNE AHlA DS
15,000,0002 * 14! 15,000
NSEWEMAHTS) 2= 863,016 824,844 38,172
201 g2y 384,720 384,600 120
01 Al222ld| 9,600 11,400 ~ 1,800
O1 LpragH| 1,200
PDEBHME 224 100,0002 * 122 1,200
O3 2g+g 8,400
PRESIS2AINHU ARG 2Y2Y
100,0002 #7021 %122 8,400
02 2Z29H| 375,120 373,200 1,920
O1 2222 2 HAl 153, 120
>PHBINQD 99, 120
ONEFDME 8,220,000 128 98,640
OAILHHA BHAlAE
40,0002 %170 A #1228 480
>EMRE 54,000
OBIS(RFZOHH L)
25,0002 *180CH 122 54,000
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sus s4 N&
WS MHIA K (LSMHSSESA)

_ _ _ SN E N
N EE-e(3H) - NRAS - BES & Ofl &F 0 BluE2
O3 A2 &HI= X 222,000
POEZHUH L HERE F2ALE
222,000,000 * 14! 222,000
202 O 2,400 2,400 0
01 2SI 2,400 2,400 0
ORSYHFES L DSAAY B OfHl
200,000& =128 2,400
401 AIEHIZ 208 433,096 372,664 60,432
01 A&l 430,000 370,000 60,000
OHAsSZEW 238 AIZE2ZAAY S
30,000,000& * 14! 30,000
OITSAIZ 2 | 4(105)
20,000,000 105 200,000
OHAZEAIAE(BIS) SHEIA
20,000,000 * 1090 & 200,000
03 A&Z20HYI 3,096 2,664 432
OAE20Ubl 430,000,000 x0.72/100 3,096
405 XtobE SHI 42,800 5,180 37,620
01 ML =ESF=H 42,800 5,180 37,620
OLSANE 22 7 2,800
>PC 1,400, 000& »2CH 2,800
Oousg 58| #¢ 40,000, 000& =14 40,000
S2GHAH(TSM) o 50,000 100,900 250,900
401 AIEHIZL 20U 50,000 100,900 250,900
01 Al£Hl 50,000 100,000 50,000
ORS 2L HH (TSM) HA AL 50,000
PEZUNERIMNA 50,000, 000& 14 50,000
SHEAIZ=S X 2 ,124,908 1,225,499 A 100,591
201 LEH2 | 212,326 210,826 1,500
02 83224l 212,326 210,826 1,500
O1 2222 % MAl 187,910
PAEIIRS 60,000 x2600 A+ 128 187,200
PUASIAEES 500,000& *1CH 500
> X+S XAl 50,0002 *1CH 50
DEdNERES 70,0003 *1CH #22 140
> USHEAR 20,000& *12] 20
O3 A& &l =Xl 12,000
Pllss HEEZ 40,0002 *3007H 2 12,000
O4 xt&. Hdetdl(6lsH22) 12,416
DUSAMEExXE RFU 9,000,000 *10H 9,000
> Xt&k = Xl 3,416,000 = 1CH 3,416
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_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &F oA il b o bRz
206 W& 80,000 80,000 0
01 T2l 80,000 80,000 0
ONEAHAILES 2|2 (DFSHAIKI 214T)
10,000, 00021 *5% 50,000
OFIINAZ (LD B SII22105)
3,000,002 105 30,000
301 YLrBAE 5,000 0 5,000
12 JIEHR A S 5,000 0 5,000
OREAE 21 AKX TH3 X2
10,0002 %5002! 5,000
401 AlZHIL 2O 827,582 918,682 £91,100
01 Al 822,400 912,700 £90,300
ONSAHALE X L F|
500, 00024 #2504 2 125,000
OFHET HOAJEAD L 845 X
1,000,000 %307 30,000
OgoR2s TYS &3 2 24
5,000,0002 *6H 2 30,000
ORSUSS e o 24
30,000, 0002 * 1574 450,000
ORSUSHOII 24 610,000 15074 91,500
ORENESIIT 24 274,002 3504 95,900
03 Al&=CHYl 5,182 5,982 A800
Oyl 822,400,000 %0.63/ 100 5,182
DEAD F2R M 399,433 189,354 210,079
z 199,000
Al 200,433
401 AIZHIL 2O 399,433 189,354 210,079
z 199,000
Al 200,433
01 Al 398,000 188,000 210,000
ORSAD RS HE(SHS SHANHRIS 2
o) 398,000, 00021 *14! 398,000
z 199,000
Al 199,000
03 Al =CH| 1,433 1,354 79
OA &= h] 398,000, 00024 %0.72/100%0.5 1,433
HASZE A8 2 24 667,528 646,045 21,483
201 Lpr2 | 120,000 0 20,000
2 T2l 120,000 0 20,000
O3 A& ZH SXb| 120,000
>SYF BAFYI(HA L GAl)
120,000, 00021 #14] 120,000
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SA B HRA(SH) - MRAY - B O & o4 i HIREY
401 Al&HI LS04I 547,528 646,045 N98,517
01 Al&H| 544,000 642,000 298,000
Ofasdd dd & 2+ 490,000
>II2E (a0l 2 oIXAx)
14,000,000 284 2~ 392,000
PHASZE RAE+ 50,000,000& *14! 50,000
DHASAR BIE L TR
1,200, 000& 4004 A 48,000
OAMUHARERE 0IFH FHI(FHE.2HE) 54,000
DRIHE 3FHE 300, 000& » 10074 2~ 30,000
fHe E=1% 120,000 *20071 2 24,000
03 Al =R0HHl 3,528 4,045 ABT7
O=R0yl 490,000,000 *0.72/100 3,528
ol g1l 506,975 301,824 205,151
801 OlldIbl 506,975 301,824 205, 151
01 olldldl 506,975 301,824 205, 151
ooyl gl 506,975,000& * 14! 506,975
WESHH oAl 2ASH(WEALESSIA) 127,339 151,809 A24,470
Oelol nsetdNs =48 46,320 92,540 246,220
201 LEH2HH| 820 39,440 A 38,620
02 5234l 820 9,440 28,620
O1 2282 % HA 820
DOEOINESER MIIZ 300,000& 2 600
>ORIOIRES M5I+E 23
30,0003 2 60
>ORIOIREZA AUAES ABE
20,0003 2 40
>OIRIOIRESR QIEY ABE
60,000& x2& 120
307 GI2+0I A 45,500 45,000 500
05 BIZtRE = 45,500 0 45,500
O0egolusSSd SIS 45,500,000& 14! 45,500
HARe X NEH=S 35,019 52,269 A17,250
201 LEH2HH| 25,819 24,569 1,250
01 AtSR22/Hl 17,302 16,072 1,230
O1 Ler+gH| 7,000
PRENSHS HUESS WA
5,000, 000& 14 5,000
PeCg U SHNSH LHIE B2
X = 2,000, 000& 14 2,000
O4 1=l 1,230
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s s4 N&2
H oAl LS WEALESIIA)

_ _ _ XN C
HE . O (3H) - HISAY - B2 AkoH oﬂiiﬁ HDE2
DAIEEXNSA SERJ L HIAZE 1,230
Ost= 100, 000 *3¢2! 300
os=s 140,000 30! 420
oYst= 70,000 =301 210
Ottgt 50,000& =30l 150
O &A= 50,000& =3¢! 150
O5 2| 9,072
DYHAABKS A NS E2X =4
7,0002 %901« 12 9,072
S3S29H| 8,517 8,497 20
O1 2222 2 HA 2,030
>DASA SFAWEBE2(SE)
0,000& *1CH*23] 100
>RSI BEE(5E) 800,000& *1CH 800
DS A =22(58H) 50,000 = 1CH 50
28I AIE= 30,000& *x3CH*12& 1,080
O4 Xtk Hdetg| 6,487
D XSS 4,987,000& «1CH 4,987
NI E =N R el sl 1,500,000 = 1CH 1,500
o4 H| 7,200 7,200 0
=LH Y| 7,200 7,200 0
O 78 Xt&k XNE=C bl
600,000& x12& 7,200
XA S B 2,000 1,500 500
A 2 2 F S| 2,000 1,500 500
o2 Itet 2+ 2,000, 000& = 1CH 2,000
MAIE 29 46,000 7,000 39,000
et A | 3,000 3,000 0
AF2 22| b 3,000 3,000 0
O3 24+« 3,000
DONECMAI AMO| 2R3 HLE
100,000 x 1521 x23| 3,000
o o bl 30,000 0 30,000
AR EZAH| 30,000 0 30,000
OuUECHHIIZAHE £+ 24
30,000,000 x14! 30,000
et A= 7,000 4,000 3,000
SHAIAHIEAZ 7,000 4,000 3,000
QUECHH HERH AS &AM Sa
4,000,000 x1A! 4,000
OQUEANDZE0|D| CHE s ¥ WEII=E HSsSU
3| S AHH] 3,000,000& * 1A 3,000
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_ _ _ Muo
N EH - S2A(3H) - MRAE - BES Aol Ofl At ot Hws2
307 QI2H0IH 6,000 0 6,000
IETEPNEES 6,000 0 6,000
ORYSHNS HEH N 6,000,008 14 6,000
e (DEALSHSIN) 851,303 1,260,582 £409,279
=ZX 2N ENT b 10,000 45,486 £.35,486
401 AIEHIL 2O 0,000 45,486 £.35,486
01 Al& ] 10,000 45,000 35,000
OFIASNTY & AN EX B &X
10,000,0002! 14! 10,000
& ExE ) 2E2 A 50,000 40,000 10,000
402 RIAX 20 50,000 40,000 10,000
01 pIAX=EE 50,000 40,000 10,000
OUEZRE RIIAY X8
2,000,00024 %257+ 7 50,000
SR P 730,763 751,712 A20,949
201 Yer2 ) 563,684 418,877 144,807
01 ALR eIt 89,075 108,250 £19,175
O1 Yer+gt| 67,265
DEHETI AR NS 25,325
OSH&AEI (HEHR 2D A OITHA T
25021 10, 0000H 2,500
O DA 6021 +80,00004 4,800
OHEAASEA 6021+80,00004 4,800
OALI0ISSHIA 25021 *5000H 125
OPDA & AEIHE 50, 00021 #28 A 100
OURND U S=ZS2A
65, 00021 %2008 A 13,000
PEUFAI GRADE(AZE ANE)
1,500, 00021 *14! 1,500
>ERH RAH(SEEIIHLE DNAS &
2) 20,000,002 14! 20,000
PEUFYR HCHE S22
4,000,00024 %14} 4,000
DRACIARA U DLOICHEAHA 2HY|
100,000 %20} 4 * 128 2,400
>EHBE Ba 60,0002 +27H 120
DRUSKHBRDEAR IHAHT 2 +42
10021 %5,00021 * 122 6,000
DRUSKHBRDEAR MBS 24 +42
12,000, 0002 3/ 100+ 122 4,320
PHYHEZ(RSMAR, K SN44E)
6,000 %5021 * 128 3,600
04 TI=Y| 7,950




A DSEFD
M s 84 A2
ool =X 22l (LSASSESA) (ctel: &
A -3 -H2A(SH) - HEAMY - BES O AFH %Egﬁ Hos
DEYHFII HEQIA(SS A AL FHY) 7,950
Oot= 100,000& =15¢Q! 1,500
os= 140,000& = 152! 2,100
O ttst 50,0003 #1521 23| 1,500
ogsts 70,000& *15¢! 1,050
OEF&tt 70,000& x 1501 1,050
(O N = N e 50,000& x 1501 750
O5 =&l 13,860
DEYHFII HH(FL.0k2H) L SE>E0
H 7,000& x2221x902] 13,860
02 23234l 474,609 310,627 163,982
O1 38322 % HAl 270,655
DREQS (LS WEH2 DA sEE) 165,000
=Pl 1,750 *5,00000 = 12& 105,000
Oglgt 250 *20,00000 x12& 60,000
DLCXEREI AMEBZ 25,0003 +150H+12& 4,500
DEYFEIHE CCTV MIIRS
40,0003 3401+ 12& 16,320
DEYFIUNHSE CCTV A2 23
170,000 *343| &+ 123 69,360
DA AR EOIAAE 2M00HY 22
30,0003 +8CH*12& 2,880
DS SZMERES 80,000 »40H+23] 640
DS A =2 25,0003 *113] 275
>AsA BEE 500,000 =8CH 4,000
D=XE & AQUAIRA 7,680
odIIR3 100,000 *60H 2 =12 7,200
oudot=ER= 20,0003 #20 A x12€ 480
02 A=zl 574
D> AQIARR A (LHEY) 996 x72 x8A| 2t 574
O3 A& &= Xl 139,380
D> ROICtEASAl G HQIAIR A
1,500,000 201 2 3,000
>LOXESEI 40,0003 = 15CH 600
DNSHYHMAAAL ST 22
2,100,000 x12& 25,200
DUEHE MIMH RANE=
2,000,000 =14 2,000
DEZALY AHE StECIAT
3,000, 000& 24 6,000
DY ChEAAE RSB
4,500,000& 3CH 13,500
DAQARA T2 SAES
4,000,000% * 14! 4,000




ES

ol

02
B
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HERE |4 e
= Ae(REASSESIAH) = RS E
I:I}\_I X ZH cCLe (ilj;”) }\.”cl}\l,o-l A2 AFOH In_-“i'_'l:_ =2}
. o= ° I T ° - [= Bl e (L] 0:”/&,% S o
> ROCHEAAE ST 24
2,100,000 324 A& 67,200
> &= PDA SAE 2,000, 0002 =14 2,000
DASXt2E HeE SHOIK Z JOFAHAH &
FANE = 935,000& x12& 11,220
DASAt2tE BEHE MH SN2+
40,0003 +12& 480
DAEINE IHY HRAIAH KX 2=
385,000& x6& 2,310
DAEINE S| GRAIAH RXNE=H]
374,000 +5& 1,870
O4 Xt&.dety| 64,000
> xeEsEU 40,000
OF=3=DN;] 6,000,000& =4CH 24,000
Osgxt 4,000,000 = 1CH 4,000
OAQXt 4,000, 000% «3CH 12,000
> XtE = Al 24,000
OsEX 4,000,000& 4CH 16,000
OF=3=1N; 2,000,000 *1CH 2,000
OdAQXt 2,000,000& =3CH 6,000
(1] 15,600 15,600 0
=LY 15,600 15,600 0
OS28&8X ¢ 2 g UeHs = ol 15,600
DEYFEI S5 0l 900,000& x12& 10,800
DAsi2E MY deiE E= ol
400,000& 123 4,800
that=S 2,000 2,000 0
that= S 2,000 2,000 0
QU A TS X SlZ=tat 200,000& = 10CH 2,000
AEHI L =20 144,519 152,692 A8,173
NE=1:1 144,000 151,600 AT,600
OSEHFEX FUSAIAH SHI|IS &X
30,000, 0002 * 14 30,000
OSEHFTIX ROUCHHAIAL 2MEX(DEA)
38,000,000 *37H 2 114,000
INE=EE 1= ] 519 1,092 A573
O 0Hhl 144.,000,000& *0.72/100%0.5 519
AH&tE = H| 4,960 39,700 234,740
&L =S FSHI 4,960 39,700 A34,740
OHBAIR A PC 1,400,000 *2CH 2,800
OUXESRA D] 500, 0002 *3CH 1,500
OHEZRA Xt 330, 0002 *2CH 660
SIFUE =4 60,540 221,584 A 161,044




LY SHME=}-P<In|
M zuE 84 N
el FHI el (RSAIESEIIA) (St &S
A -3 -H2A(SH) - HEAMY - BES Of &F 2K glggi; Hlns2t
401 Al HI LRI 60,540 221,584 A161,044
01 Al&HI 60,000 220,000 A 160,000
OEFIE AME RAE2(36004)
50,000, 0002 *14! 50,000
OXFAR| DA AILMS A
10,000,000 14! 10,000
03 Al&2HHI 540 1,584 A1,044
O 60,000,0002 *0.90/100 540
WSS (NSHE D) 40,000 0 40,000
SHEXNE(NSALELEEA) 40,000 0 40,000
SYFUE ASHA2S 232 40,000 0 40,000
802 Hret=J|Et 40,000 0 40,000
03 UL=S 40,000 0 40,000
OSLFIE AEAHAZ 32
40,000,000 %14 40,000
HYLRABH (LS ) 325,665 261,595 64,070
clei2dH(NEHF ) (NEMASELFH) 247,809 189,219 58,590
OIHSAY (WS ) 247,809 189,219 58,590
101 Q1A 247,809 184,179 63,630
03 RIAHAZZRE 247,809 184,179 63,630
OSYFHASUAY (HE2H) 187,865
>ole3 43,7009 721 %250 76,475
> &0 2 76,475,000 4/ 12 25,492
DEESY 43,7002 x7Q1 %522 15,907
ARSI 43,7002 x721%102 3,059
DEUIDLY 43,700 +721x242 %150/ 100 11,013
DAlIZERI 224
5,4632 x7Q1x25 Al 2t 128 %150/ 100 17,209
> g2 20,000,000 *1 4! 20,000
> Il = 3,710
oot 100,000 *72! 700
os= 140,000 *72! 980
o)=x-1} 50,000 7921 %23] 700
OEF&tl 70,0002 *79! 490
ogsts 70,000 %79l 490
O2X ¢ XHRT 50,0002 *79! 350
DHESE(AY.QY.200132)
15,000,000 x 14! 15,000
OSYFHILSAH(HS T2 22IRY) 36,307
>olea 35,800 x201 %2502 17,900
D A0S 17,900, 0002 x4/ 12 5,967




SN DEHHDY
HH: LAY (DERR D)
Sl QP YH(DSBF ) (DSALSESIN) (Sl &2
. _ o HEG =
SN HY . C(EH) - MRAY - BYS 0ff &+ o4 il b o B2
>EESY 35,8002 x201 x522 3,724
>ARRSEIAY 35,8002 x201 102 716
> e 5,000,000 14! 5,000
PHEER(AY. 2. 20013)
3,000, 0002 *14] 3,000
ONEHHALHYIQAY (DEANLR2I28) 23,637
>olEE 43,7002 x2502 10,925
> A&01 2 10,925,0002 4/12 3,642
>ARRBEIEY 43,7002 %102 437
>EESY 43,7002 ¥522 2,273
>Elx2 3,000,002 14! 3,000
PHEE2(AY, 2%, 20013)
3,000, 0002 *14} 3,000
> Il =t 360
ost= 100,0002 12! 100
os= 140,0002 1! 140
CEIE 70,0002 *1¢! 70
O oHE &t 50,0002 *1¢! 50
IIE2HE(REASSHET) 77,856 72,376 5,480
2B (REHF D) 77,856 72,376 5,480
201 LByl 51,576 51,576 0
01 Attt 47,976 47,976 0
O1 Lur=gY| 39,240
PENSYLEH(ZSAEXS 105)
2,500,0002 * 122 30,000
>EAD Y HRIEH EH.CY
300, 0002 * 150H *23| 9,000
RS YT 30,0002 *62 240
05 2| 8,736
ST 7,0002 %2601 x43] %122 8,736
02 IZ2YH| 3,600 3,600 0
O3 A&ZHIRA 3,600
>EAIE RABS 300,0002 128 3,600
202 01t 11,700 1,700 0
01 2Uioibl 11,700 1,700 0
OANBZER J|2H248 0fb 975,000 <122 11,700
203 HRFAY| 5,040 0 5,040
04 BNRYAREAY| 5,040 0 5,040
ORMNSYASEFY|(4201) 420,000 <128 5,040
405 XHAHE SHI 9,540 9,100 440
01 RHAUSEH S| 9,540 9,100 440




FH: nSHA W
X ZH: SHXE
S Tt S

I

el

‘:‘}\ X xH Cto| (S }\ C‘}\O‘l HAXZ A} OH X‘—-IL‘jL:—
OPC 1,400, 0002 *5CH 7,000
OdIoOIdEZ 2l H 2| 700,000& »2CH 1,400
OCU X E7tnet 300,000& =2CH 600

OXAE 2Kt 180,000 3CH 540




